Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-5 EXAMINATION -WINTER- 2019

Subject Code: 3351905 Date: 22-11-2019
Subject Name: ECC
Time:10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.

Q1 Answer any seven out of ten. £21Hi&{l S16&URL Uldsil wloL A1)

1.  Define estimating.

SRR P S RSITISITRATN

2. State different elements of cost.

R USAR ($Ud <l [afdy g sl eull,

3. Listthe causes of depreciation.

3. HURLeAL SRR ] ALE] 4,

4.  List the Elements of cost in Gas welding.

¥, AU ASPIUR ol W sl g25) dud,

5.  Define forging and list the types of forging.

U 81Tl ofl cutuil ) W dstl UsIRL «fl A€l A1),

6.  State the limitations of Break Even Chart.

€ Qs 8del YIS ofl YUl dul,

7.  List six objectives of budget.

9. W2 oll 518 UL &9 &l alidl.

8.  List various pattern allowances.

¢ Uedd WaIGHIY «fl UIE] welldl,

9.  Write down the importance of cost analysis.

€. USAR [Nl of Hecd Yuoxtdl.
10. State the conditions of contract.
fo.  sl2ls ofl Al wQlLd),

Q2 (a) Explain effect on Breakeven Point while increasing the Variable cost.
usl.? ) AAud WAH duIR) 5di Blsdst Ulge2 GUR el 143 UHosd).

OR
(a) Explain procedure for constructing breakeven chart.

) QS St YL U lofl Ad yHoxtdl.

(b) Define following terms. (1) Breakeven point (2) Profit - volume ratio (3)
Fixed cost (4) Variable cost.
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The total sale of an industry is Rs. 250000. The fixed cost of the industry

is Rs. 55000 and variable cost is Rs.125000.Find the Break Even Point

for the industry

A5 65| o 56 dULILL 0. U0,000 B, HSLe{] [§52S 5122 . UUooo Ao

A1A0iG WL 29,234,000 B, dl §5E] HIE W5 et UlH2 2k,

A Lathe machine is purchased for Rs. 500000 and its expected life is 16

years. Its scrap value is Rs. 125000. If 8 % interest is charged on

depreciation fund, calculate the depreciation rate by straight line &

sinking fund method.

A5 a2 Helled 2. U,00,000 Hi Wlecldi 219 8, deil vield QU]

dlos 16 AN 8, deil WU AR} 2.9,24,000 . % Aol A1 ES UR ¢ % L%

caLLSselH w19 ol Aldl @leset i ASTaL 55 o{l Fcdledl el 2 lel,
OR

A firm produces 100 pens per day. The material cost is found to be Rs.

150, the direct labour cost is Rs. 200 and factory on cost chargeable is Rs.

240. If the selling on cost is 40% of the factory cost, what must be the

price of each pen to release the profit of 10 % of the selling price?

A5 VE) £221% il 100 Vel i1 B, HE11UE W . 4o B, SIS AuiR
W3 e, 00 B, 2»@ AL 53] ASIA Ad) s3] 21U Wl 2, 0 B, o)
Ay LR ARU W 3523 5122 ol ¥o % €l dl €35 Uet U deil AU [5Hd

o] 90 % 1§l Hondal Hie «fl dulal (5Hd 2llkl.
Discuss the Importance of Break Even Point in Industry.

65| Ui W5 8dsi Ul©R of Hscd YAl

OR
List the advantages of Break Even Analysis.

WS 8del Wel 1YY o1l SlAel wQLLd).

Statre the stepsrof estimating arc welding cost.
15 AESTIL WL HIR vl %3] udlel dudl.

OR
Explain different types of forging losses.

ot 16l S1%6100 Gl{1 Y M),

Explain various forging operations.
o1l S1%5T0L WIULLet UHo1C).
OR
Define (1) Net weight (2) Shape weight and (3) Gross weight
UYL UL (D) A2 d8e () Audse wa (3)Ald dse.

State the method of finding direct material cost in foundry.

SIGSTLHIR «li sluRse Helilud sle ludl HI2 ol €l-ael Tl dudl

OR
Calculate the cost of C. I. pulley of 1250 cm3 using material cost = Rs. 10
per Kg, wages paid to the worker = 60 per day, density of C. . = 7.2 gm
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per cm3, overhead charges = 20% of material cost, melting charges = 15
% of material cost, number of mould prepared = 25 /day / molder.
RYo gt QML ol 512 idel Yol Slae 2ldl. d Ul HARlugsil
[sHd=.90/(5.31, HleSs} Adel = . €0 Udl (€4, 512 Wl ol
tlolcdl=9.2 ALH/AH]3 2Nd&5 Ul TU = HElZuged] ($Hd «ti 200, Hedlal
Ay = HARuaedl (sHd el u%, oeldl Hlesell vl =
U/ [edu /HlesR.,
A square bar of 5 cm side and 40 cm length is to be converted by hand
forging in to a bar of hexagonal section having each side equal to 3 cm
calculate the length of hexagonal bar produced. Consider scale loss 7 % of
total volume.
A5 U AL w12 v o AL GudLe ofi A1y yoilaul A 8 sloslorel 3 A.H)
ULYS dlonl N2 s1lY A5t ¢liR Hi PUIdRA Uld B, Geulled Neslfly
A0ilLs] GoqleSef] d1RId3] 5. §6 dIRUe1L 7% Bdl ¥ dlYal llsiH]
dl.

OR
Four plates each of size 1000x500%X5 mm are to be gas cut from M.S.
plate of size 2000x1000x5 mm. Find gas cutting cost for the following
data. Oxygen consumption: 5 m3/hr, Acetylene consumption: 2 m3/hr,
Cutting speed: 10 m/hr, Cost of oxygen: Rs. 12/m3, Labour cost: Rs.
30/hr, Cost of acetylene: Rs. 30/m?3
A5 H1El R000x1000xU HLH] AL «il We Hiel J000xUooxy H]H]
AULE ofl AR We Ay 5211 Y1 AY &l wetiaaHi 241d B, w10d 21 YHIQ)
A 52101 sl 2Mldl. M slet qupgd U HI3/sdLs, W12ldlst Ui R
H13/5d1s, 52101 1S : 20 Hl/sAlLS, S12 ¥ M1s{loget: 2+ 9/ H13, dwiR
W : 23075418, Sl vils WA12lelet 2. 30/ H]3,

Define (1) cutting speed (2) depth of cut (3) feed.
e ull A UL(T) 5211 1dls (R) Sl wls 52 (3) sl

OR

Explain approach ang over run with respect to Milling operation.
Hlelor Helled ot feel Hi WA w4 AR 26 YHAAL,

Find out the facing time to face at one end of 28 mm steel rod. cutting
speed is 28 m/min and cross feed is 0.2 mm/rev.

¢ HIH] Ul 411l 2219 1S oLl 35 BSL o 52(lo1 54l HI2 «ll AU 21l
sl 1dls ¢ Hl/Msfl2 A 514 81S 0.2 HIHl /Rl eyele B.

OR
Estimate milling time to cut 50 teeth on a gear blank 100 mm thick. Feed
is 35 mm/min, and assume overall setup time as 10 minutes.

Qo0 MY 151 flUR vds U o Zlel s2 sl UL @ldldl Hldor qHA <l
R3] 520, 51s 3u HLHL/HL A2 e wdR v{1d 2 AU 2leH 90 Hls{le
g2

Explain cost estimation of Diesel generating set and Ice plant.
Slovel %=l E[oL A2 ol ALY Wi HI 512 AEIHLUeA UHd),

What is Tendgring? Explain its types.
25321124 Q) 7 AHell UsIR M4l

Explain sales Budget.
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Write merits and demerits of contract.
sl21se ol slAel 3o Ag1UEl QU

How to calculate turning time in machining shop?

1ol 20U HIR 2eilol Y Bl Id aeil sl ?
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